Multiplication de Trois Binomes (G)

Simplifiez chaque expression.

1. (=5a® — 9a*)(2a* + a®)(3a® + 4a?)

2. (3b° + 3b%)(6b> — 3b%)(—6b* — 2b)

D

3. (9k* — 6k%) (4k* + 3K%)(—Tk* + 3K?)

. (—6p® — Tp)(2p” + 4p)(8p° + 5p*)

(38 + 55 (= 75" 4 25%)(25% + 457)

Ot

6. (8k* — 8Kk*)(6k* — Tk)(8k — 9)

-3

(42t 4 82%) (823 + 32%) (=221 — 42°)

8. (4h + 8)(—9h* — R*)(Th® 4 Th?)

e

) (9% + %) (5¢% + 8t)(—2t + 3)

10. (=5h3 + 9h%)(=Th — 6)(—3h° + 3h%)
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Multiplication de Trois Binomes (G) Réponses

Simplifiez chaque expression.

- (=5a” — 9a*)(2a* + a*)(3a® + 4a?)
= —30a"” — 109a'" — 119a'" — 364’

—_

(36 + 3b%)(6b — 3b%)(—6b* — 20b)
= —108b% — 90b" + 361° + 18b°

)}

- (9K* — 6K%)(4k* + 3K™) (= Tk* + 3K?)
= —252k'% + 87N 4 135k10 — 54%°

w0

- (—6p® — Tp)(2p* + 4p)(8p° + 5p*)
= —96p” — 364p® — 414p” — 140p°

(@

(38% + 55)(—T7s5" 4 25%)(25% + 45?)
= —42s'"1 — 142510 — 9657 + 40s°

6. (8k% — 8k?)(6k* — Tk)(8k — 9)
— 384k% — 1264k + 1384k* — 504k3

=~

(421 + 82%)(82° 4 327)(—22" — 427)
= —642'" — 2802 — 35227 — 9628

~(4h + 8)(—=9h* — B*)(Th® + Th*)
= —252h'0 — 78417 — 588K% — 5617

00

e
N

(9t 4+ %) (5¢% + 8t)(—2t + 3)
= —90t% — 19¢° 4 215t* 4 24¢3

10. (=5h% + 9h?)(=Th — 6)(—3R° + 3h%)
= —105h° 4+ 204h® + 6317 — 162h°
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